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MG (plot by adjDAT)

?
1 *5
L.
P
A0
.r |*r rI“l.
T
L 9% -* -¢
.“.G* o _.*
Y iy L e
] rnﬂ -9 |
L |. _..* -.|.
e Tl e e
g 1Y, el
B P SR P
RS- S P
¢ 8 o 0
I A
(R _Irl. _I. _I. _nnﬂ “
R 4 [ 1 1 I
Y -@ L |4 9 '--9
o T igle P
“ “I.* _uﬂ _|‘“ “
- I
4..* —.* _uﬂ _|0—|I+IIII..
g P i_e * |
. e T
HI B
L—-Q | r*ll+||||..
1 l-@ -@ |1
-@ ] I 1
1 -@® [
-@ 1 1 1
le r* _III“.
T e
1 ]
|I‘ _IIS_
_|‘ ..Wuﬂn.lll..
] =
e <
||*m|||||..
“
! o
S .m |||||||| mnn
©
e e o @
o o o o o o o
(e} Te] < m (q\] —

Buippng a1y sAeqg

80

60

40

20

Days After Transplant



Days After Budding
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MG TsN6 (plot by adjDAT)
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